xF E & B kR % MM K #® F #F

SFTHE5H20A
F£AH R FTEEN |FERGIOAE|#HEK) 2B (kg)| EEWM) | PEME) | REWME) &% No.
R7.520 | \CA Bt By = @
R7.5.20 |IZALCA FhhE Y 10 @
R7.5.20 (IZALA &F ) = @
R7.5.20 |I&<E0N At Y = ®
R7520 |Fv_wY #4fE ) 10 @
R7520 [FrRY & Y = @
R7.520 |RYLY™Y &% #Y 120 ®
R7.520 [ (&) il 0] — K ®
R7520 |h¥ &% By = ®
R7.5.20 |LAR FhhE Y 10 @
R7.520 |L2X &% By = @
R75.20 [Ew5Y(X—3—) il Y 507
R7.5.20 |Z®5Y(H) Lide ) 5
R7.520 |Ep>5Y &% By =
R7.5.20 [HEFHw Ak 3y = )
R7.5.20 |#9 &Et 5y =
R75.20 |~k 47 %Y 4 @
R7.520 |k<k &% 1) = )
R7.5.20 [E—=> Ak 3y = @
R7.520 |S%Z2AES &% Y -
R75.20 |[Fhi L& Ll %Y 10 ®
R7520 [[EhiiL& a5t 1) = ®
R7.5.20 |f=F4a¥ Ak 3y =
R7.520 |EL&SA FoRE Y —=R
R7.5.20 |FEL&IA =L w5y -
R7520 [#ELLMV=1 B Y 0.1 ®
R7.520 [£LL =+ &% Y = ®
R7.5.20 |ZDEFF At WY -
R7.5.20 | 57%L&HL FRhE) Y 0.1
R7.5.20 |AS7%L&HL aF WY -
R7.5.20 |&t iy 12.0
R7.5.20 |#A&t 0] 12.0 iR RE
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AFTHES A 20 H
F£AA e TEEN |FERSIOAE| HEQ |28 (ke) fE (M) HiE (H) Z{E (M) &% No.
R7.5.20 |[ZL\CA P37 FExE 1.1 10 1188 ®
R7.5.20 |[ZL\CA FE Xt 44 10 1404 1296 1188 ®
R7.5.20 |ZL\CA ait ks 8.4 ©)
R7.5.20 |I2ALA #4FE s 10 @
R7.5.20 |I2ALA e s 10 @
R7.5.20 |IZALCA &t AExt = @
R7.5.20 |[&<&0y R Bt 6.2 15 1296 864 864 ©)
R7.5.20 |[&<ELY &&t HRxt 6.6 ®
R7.5.20 |F¥~vY EEIN Haxt 6.5 10 734 734 432 @
R75.20 |Fv~w £0E #axt 10 10 864 648 540 @
R7.5.20 |F¥~Y At HRxt 28.4 @
R7.5.20 |7RoLv™) R Haxt 02 —=®& 108 97 ®
R7.5.20 |7RoL2vU BE axt 01 —=x 140 119 86 ®
R7.5.20 |RoL>VD aF FExE 0.9 ®
R7.5.20 |h¥(H) FhiE Haxt 04 —X 162 65 65 ®
R7.5.20 |R&¥(H) R axt 0.6 5 2700 1944 1944 ®
R7.5.20 |¥(H) FE axt 1.3 5 3240 1620 1512 ®
R7.5.20 |R&E &% A8t 3.1 ®
R75.20 [L&X I #axt 10 @
R7.5.20 [L&X FE Haxt 10 @
R7.520 |LAR &% FExE 5.6 @
R75.20 |Ep5Y(R—3—) Gl Hxt 0.1 504 2484 864 540
R7.5.20 |Zwp3Y(B) HE Hxt 5.1 5 2160 1728 1512
R7.5.20 |Zp35Y(B) FhiE axt 09 5 1620 1404 1188
R7.5.20 |ZEp3Y aF FExE 10.1
R7.5.20 |MIEb% A¥La Lizbol 10 ©)
R7.5.20 |MIEb% N-Z Xt 32 10 2700 1836 1836 ©)
R7.5.20 |HhFHe aF FExE 83 ©)
R7.5.20 %9 (L) 5 Lizbol 05 5 2160 1944 1728
R7.5.20 |9 (R) RER Lizbol 2.7 4 1620 1296 1080
R7.5.20 |%9 A% FExE 35 ®
R7.5.20 |k<hk FRiE Xt 1.2 4 1620 1296 1080 (@)
R7.5.20 |k<hk RER Xt 03 4 1404 1188 (@)
R7.5.20 |k k Ai AExt 1.6 (@)
R75.20 |[E—<> B2 Xt 1.1 0.15 86 ®@
R7.5.20 |E—<> &% AExt 13 @
R7.5.20 |SPZXALES (#8) =5 Xt 2
R7.5.20 |SPRAES aF FExE 0.1
R7.5.20 |l L& FHE Lizbol 3.3 10 3996 3996 3780 ®
R7.5.20 |l L& BER Lizbol 0.2 10 4104 3780 ®
R7.5.20 |[EH L L& aF Xt 35 ®
R75.20 |fz=FhF F Xt 84 20 3780 3240 2916 ®
R75.20 |fz=FhF &8 Xt 6.0 20 3780 3240 2700 ®
R7.5.20 |f=FhF aF Xt 18.4 ®
R7.5.20 |EL&LIH FHE Xt 03] —X 124 119 108
R7.5.20 |EL&IA AF Xt 0.3
R7.5.20 |H#LL =IT FHE Lizbol 0.4 0.1 162 108 86 ®
R7.5.20 |&£LL =IF aF Xt 05 ®
R7.5.20 |ZDEF1T % Lizbol 1.1 0.2 76 59 59
R7.5.20 |ZDEF1T aF Xt 1.1
R7.5.20 | S%&L&HL R¥% Haxt 03 0.1 72 54
R7.520 |5%L&HL GG st 0.9 0.1 76 70
R7.520 | S4L&HL &&t LB 14
R7.5.20 |&t bS] 103.5
R7.5.20 |#5t LB 103.5 i RE
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R7.5.20 |#HMA(/\IR) FhfE #Y 0.4 O)
R7.5.20 |&h A AaF #iY = ©)
R75.20 VAT AaF #iY = ®
R7.520 (U4 a5 #Y -
R7520 (T59LI7F aF #Y -
R7520 [LWET (FLIE-R) FafE Y 0.26 ®
R7520 (LB (ELUE) EH Y 0.26 ®
R75.20 (L6 AaF #iY = ®
R75.20 [AO2 (7—JLR) FafE Y 8 @
R7.5.20 [*Q> A% #iY = @
R7.520 (gL H AaF #iY = ®
R7.520 [J)L—~1— FafE Y 0.1
R7.5.20 [J)L—~1— AaF Y -
R7.5.20 |5t Y -
R7.5.20 [#a&t Y = iR RE
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SFNTHESH 20 B
£AAH % FTEEH |FEWMEIOAZ 20 |28 ke)| SEM) {E (M) RIE(H) &% No.
R7.5.20 [#MA (/v 2R) FhRE Hxt - 0.4 @
R7.5.20 |#MA AaF Hxt - @
R75.20 VAT (Pard—LF) |5 Haxt 03 10 4,860 4,320 @
R75.20 [YAZ (B2 5L) & LS - 10 )
R7.5.20 [YAZ (5L) & Haxt 1.4 10 7,020 5,400 4,320 @
R75.20 VAT (F/3—ILK) |FFH Haxt 0.6 10 5,400 4,860 4,860 @
R75.20 VAT a5 LS 2.3 ®
R75.20 (Ut BRS LS - 025
R7.5.20 U1 a5 LS -
R75.20 [TZVITF(\IR) (I LS - 2
R75.20 (75T 7 =1 Hxt 0.1
R7.520 [LW\6Z (#IIF-R) FE waxt 05| 026 324 270 130 ®
R7520 (LW (ELUE) FhRE Haxt 02 026 346 270 140 ®
R7.520 [L\6T =1 Hxt 0.6 ®
R7.5.20 |AQY (F—ILR) FhRE Haxt 0.2 8 16,200 10,800 8,640 @
R7.520 |AOY (FYTR) B3 Haxt 0.2 5 3,240 2,700 @
R7.520 |AOY (FYTR) REAR Hxt - 5 @
R7.5.20 | A0 A(ZMDth) B3 Haxt 0.3 5 3,240 2,700 2,484 @
R7.5.20 | A0 A(Z0Dth) REAR waxt 0.4 5 @
R7.5.20 (*@> At Hxt 15 @
R7.520 [FLydh(A\HR) RER Hxt 40 15 7,020 5,400 4,860 ®
R7.5.20 | gL \H =1 Hxt 43 ®
R75.20 [J)L—~1)— F8RE LS - 0.1
R7.5.20 |JJL—~1)— =1 At =
R7.5.20 |5t At 8.8
R7.5.20 (#a% LS 8.8 i RE
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